160791 BOUNDARY RE c E
Point # 1 10000.000 10000.000  Kijttitas Co. CDS
S 60 59 12 E 382.230
Point # 2 9814.613 10334.263
S 26 0 50 W 30.040
Point # 3 9787.617 10321.088
S 60 59 12 E 36.290
Point # 4 9770.016 10352.823
S 19 33 20 W 136.620
Point #5 9641.276 10307.094
N 73 36 10 W 16.830
Point # 6 9646.027 10290.948
S 29 0 48 W 151.690
Point # 7 9513.373 10217.377
S 60 59 12 E 242.000
Radius Point # 8 9396.000 10429.007

Delta=11 48 48

Length = 49.896

Tangent = 25.037

N 72 48 0 W 242.000

Point #9 9467.562 10197.830
S 17 12 1w 112,520

Point # 10 9360.074 10164.556
N 73 7 5w 7.550

Point # 11 9362.266 10157.332
S 16 57 32 W 10.000

Point # 12 9352.701 10154.415
N 16 57 32 E 2824.800

Radius Point # 13 12054.663 10978.368
Delta=19 2 24 Length = 938.711 Tangent = 473.723

S 35 59 56 W 2824.800

Point # 14 9769.319 9318.037
N 54 0 a4 w 262.750

Point # 15 9923.756 9105.464



S 88
Radius Point # 16

56 4 E

Delta=34 58 52

30.000
9923.198

Length = 18.316

9135.459

Tangent = 9.454

N 53 57 12 W 30.000
Point # 17 9940.851 9111.203
N 36 2 48 E 214.830
Point # 18 10114.549 9237.618
S 53 57 12 E 240.000
Radius Point # 19 9973.323 9431.668
Delta=17 0 15 Length = 71.227 Tangent = 35.877
N 36 56 57 W 240.000
Point # 20 10165.123 9287.402
N 53 3 2 E 277.110
Point # 21 10331.697 9508.859
S 52 26 55 E 144.790
Point # 22 10243.452 9623.650
N 38 22 7 E 119.570
Point # 23 10337.198 9697.869
N 4 13 40 W 111.770
Point # 24 10410.190 9613.224
N 36 56 58 W 1230.000
Radius Point # 25 11393.165 8873.859
Delta=8 16 51 Length = 177.769 Tangent = 89.040
S 45 13 49 E 1230.000
Point # 26 10526.926 9747.089
) 45 14 42 E 30.000
Radius Point # 27 10505.804 9768.392
Delta=87 8 36 Length = 45.628 Tangent = 28.540
S 47 36 42 W 30.000
Point # 28 10485.579 9746.235
S 42 23 18 E 38.550
Point # 29 10457.106 9772.223
) 47 41 47 W 309.740
Radius Point # 30 10248.633 9543.143
Delta=29 24 29 Length = 158.979 Tangent = 81.282
N 77 6 16 E 309.740




‘Point # él 10317.759 9845.071

S 12 48 38 E 163.870
Point # 32 10157.968 9881.405
N 77 11 27 E 242.000
Radius Point # 33 10211.621 10117.383
Delta=48 10 34 Length = 203.481 Tangent = 108.191
S 29 0 53 W 242.000
Point # 34 9999.993 10000.005

AREA = 681,296.10 sf (15.6404 acres)

LENGTH = 2217.01

NORTHING ERROR = -0.007 EASTING ERROR = +0.005
LINEAR ERROR =S 32 20 12 E 0.009



160791 LOT 2A

Point # 1 10000.000 10000.000
N 53 3 2 72.720

Point # 2 10043.713 10058.115
S 52 26 55 144.790

Point # 3 9955.467 10172.906
) 38 22 7 72.420

Point # 4 9898.687 10127.953
N 54 57 58 65.190

Point #5 9936.110 10074.575
N 10 22 44 39.410

Point #6 9974.876 10067.475
N 51 48 13 26.600

Point # 7 9991.324 10046.570
N 79 27 4 47.370

Point# 8 9999.996 10000.001

AREA =9,781.68 sf (.2246 acres)

LENGTH = 468.50

NORTHING ERROR = -0.004

LINEAR ERROR =S 12 57 51 E 0.004

EASTING ERROR = +0.001



160791 LOT 2B

Point #1 10000.000 10000.000
N 53 3 2 E 83.960

Point # 2 10050.469 10067.098
) 79 27 4 E 47.370

Point #3 10041.797 10113.667
S 51 48 13 E 26.600

Point # 4 10025.349 10134.572
S 10 22 44 E 39.410

Point #5 9986.583 10141.672
S 54 57 58 E 65.190

Point # 6 9949.160 10195.051
S 38 22 7 W 6.190

Point #7 9944.307 10191.208
N 83 27 53 W 172.420

Point # 8 9963.931 10019.909
S 67 12 58 W 193.500

Radius Point # 9 9888.997 9841.507

N 54

59

Delta=12 13 20

38

E

193.500

Length =41.277

Tangent = 20.717

Point # 10

10000.001

10000.001

AREA = 11,263.64 sf (.2586 acres)

LENGTH = 441.14

NORTHING ERROR = +0.001

LINEAR ERROR=N 48 53 33 E 0.002

EASTING ERROR = +0.001



160791 LOT 2C

Point # 1 10000.000 10000.000
S 83 27 53 E 172.420
Point # 2 9980.376 10171.300
S 22 18 22 W 184.560
Point #3 9809.627 10101.249
S 9 40 15 W 335.770
Point #4 9478.628 10044.844
N 32 47 38 E 2824.800
Radius Point # 5 11853.224 11574.808
Delta=3 12 17 Length = 157.999 Tangent = 79.020
S 35 59 55 W 2824.800
Point # 6 9567.873 9914.487
N 54 0 4 W 262.750
Point #7 9722.309 9701.915
S 88 56 4 E 30.000
Radius Point # 8 9721.751 9731.910
Delta =34 58 52 Length = 18.316 Tangent = 9.454
N 53 57 12 wW 30.000
Point #9 9739.405 9707.654
N 36 2 48 E 214.830
Point # 10 9913.103 9834.069
S 53 57 12 E 240.000
Radius Point # 11 9771.876 10028.118
Delta=17 0 15 Length =71.227 Tangent = 35.877
N 36 56 57 W 240.000
Point #12 9963.677 9883.853
N 53 3 2 E 120.430
Point # 13 10036.068 9980.097
S 54 59 39 W 193.500
Radius Point # 14 9925.065 9821.602
Delta=12 13 20 Length = 41.277 Tangent = 20.717
N 67 12 59 E 193.500

Point # 15

9999.999

10000.004



AREA = 137,397.64 sf (3.1542 acres)

LENGTH = 1290.76

NORTHING ERROR =-0.001 EASTING ERROR = +0.004
LINEAR ERROR =S 69 40 19 E 0.004



160791 LOT 3A

Point # 1 10000.000 10000.000
N 9 40 15 E 335.770
Point # 2 10330.998 10056.405
N 22 18 22 E 184.560
Point#3 10501.748 10126.456
N 38 22 7 E 198.180
Point # 4 10657.127 10249.470
N 49 13 40 W 111.770
Point #5 10730.119 10164.825
N 36 56 58 W 1230.000
Radius Point # 6 11713.094 9425.460
Delta=8 16 51 Length =177.769 Tangent = 89.040
S 45 13 49 E 1230.000
Point#7 10846.855 10298.690
S 45 14 42 E 30.000
Radius Point # 8 10825.733 10319.993
Delta=87 8 36 Length = 45.628 Tangent = 28.540
S 47 36 42 W 30.000
Point #9 10805.508 10297.835
S 42 23 18 E 38.550
Point # 10 10777.035 10323.824
S 47 41 47 W 309.740
Radius Point # 11 10568.562 10094.744
Delta=29 24 29 Length = 158.979 Tangent = 81.282
N 77 6 16 E 309.740
Point #12 10637.688 10396.672
S 12 48 38 & 81.930
Point # 13 10557.797 10414.838
) 77 11 22 W 120.000
Point # 14 10531.190 10297.825
S 18 43 40 W 624.240
Point # 15 9940.001 10097.399



N 30 28 25 E 2824.800
Radius Point # 16 12374.591 11529.972

Delta=2 19 13 Length = 114.394 Tangent = 57.205
S 32 47 38 W 2824.800

Point # 17 9999.995 10000.008

AREA =131,352.23 sf (3.0154 acres)

LENGTH = 1695.00

NORTHING ERROR =-0.005 EASTING ERROR = +0.008
LINEAR ERROR =S 57 32 44 E 0.009



160791 LOT 3B

Point # 1 10000.000 10000.000
N 18 43 40 E 624.240
Point # 2 10591.189 10200.426
N 77 11 22 E 120.000
Point # 3 10617.797 10317.439
) 12 48 38 E 81.930
Point #4 10537.906 10335.605
N 77 11 27 E 242.000
Radius Point # 5 10591.559 10571.583
Delta=24 5 16 Length = 101.739 Tangent = 51.632
S 53 6 11 W 242.000
Point # 6 10446.267 10378.051
S 28 59 28 W 574.220
Point#7 9944.000 10099.742
N 28 9 11 E 2824.800
Radius Point # 8 12434.599 11432.563
Delta=2 19 13 Length = 114.394 Tangent = 57.205
S 30 28 24 W 2824.800
Point#9 10000.002 10000.002

AREA = 109,532.81 sf (2.5145 acres)

LENGTH = 1400.39

NORTHING ERROR = +0.002

LINEAR ERROR=N 44 52 3 E 0.003

EASTING ERROR = +0.002



160791 LOT 4A

Point #1 10000.000 10000.000
N 28 59 28 107.330

Point # 2 10093.881 10052.020
N 53 6 8 242.000

Radius Point # 3 10239.175 10245.549
Delta=24 5 18 Length = 101.742 Tangent =51.634

S 29 0 50 w 242.000

Point#4 10027.546 10128.174
S 60 59 12 231.240

Point #5 9915.391 10330.395
S 28 59 28 128.790

Point # 6 9802.739 10267.974
N 61 0 32 90.000

Point# 7 9846.360 10189.251
S 28 59 28 10.230

Point# 8 9837.412 10184.293
N 61 0 32 125.000

Point #9 9897.996 10074.956
N 28 59 28 52.900

Point # 10 9944.267 10100.596
N 61 0 32 115.000

Point # 11 10000.005 10000.006

AREA = 39,574.98 sf (.9085 acres)

LENGTH = 860.49

NORTHING ERROR = +0.005

LINEAR ERROR=N 49 9 49 E 0.007

EASTING ERROR = +0.006



160791 LOT 4B

Point# 1 10000.000 10000.000
N 28 59 28 192.760

Point# 2 10168.606 10093.426
S 60 59 12 150.990

Point # 3 10095.374 10225.468
S 26 0 50 30.040

Point # 4 10068.377 10212.292
S 60 59 12 36.290

Point #5 10050.776 10244.028
S 19 33 20 136.620

Point# 6 9922.037 10198.299
N 73 36 10 16.830

Point # 7 9926.788 10182.153
S 29 0 48 24.240

Point # 8 9905.590 10170.396
N 61 0 32 194.800

Point #9 10000.004 10000.006

AREA = 36,986.56 sf (.8491 acres)

LENGTH = 782.57

NORTHING ERROR = +0.004

LINEAR ERROR=N 53 3 38 E 0.007

EASTING ERROR = +0.006



160791 LOT 4C

Point # 1 10000.000 10000.000
N 28 59 28 E 136.370

Point # 2 10119.282 10066.095
S 61 0 32 E 194.800

Point # 3 10024.868 10236.486
S 29 0O 48 W 127.440

Point#4 9913.421 10174.675
S 60 59 12 E 242.000

Radius Point # 5 9796.047 10386.306
Delta=2 6 50 Length = 8.928 Tangent = 4.465

N 63 6 2w 242.000

Point # 6 9905.534 10170.490
N 61 0 32 w 194.920

Point # 7 10000.007 9999.995

AREA = 26,561.07 sf (.6098 acres)

LENGTH = 653.53

NORTHING ERROR = +0.007 EASTING ERROR = -0.005
LINEAR ERROR=N 37 38 3 W 0.009



160791 LOT 4D

Point # 1 10000.000 10000.000
S 61 0O 32 E 90.000

Point # 2 9956.379 10078.723
S 28 59 28 W 115.330

Point # 3 9855.501 10022.825
N 61 0 32 W 90.000

Point # 4 9899.121 9944.103
N 28 59 28 E 115.330

Point#5 10000.000 10000.000

AREA =10,379.70 sf (.2383 acres)

LENGTH = 410.66

NORTHING ERROR = +0.000 EASTING ERROR = +0.000
LINEAR ERROR=N 0 O O E 0.000



160791 LOT 4E

Point # 1 10000.000 10000.000
S 61 0 32 90.000

Point # 2 9956.379 10078.723
S 28 59 28 85.000

Point # 3 9882.030 10037.525
N 61 0 32 90.000

Point # 4 9925.651 9958.803
N 28 59 28 85.000

Point # 5 10000.000 10000.000

AREA = 7,650.00 sf (.1756 acres)

LENGTH = 350.00

NORTHING ERROR = +0.000

LINEAR ERROR=N 0 0 0 E 0.000

EASTING ERROR = +0.000



160791 LOT 4F

Point # 1 10000.000 10000.000
N 28 59 28 E 466.890

Point # 2 10408.386 10226.289
S 61 0 32 E 115.000

Point # 3 10352.649 10326.879
S 28 59 28 W 52.900

Point # 4 10306.377 10301.240
S 61 0 32 E 125.000

Point #5 10245.793 10410.577
S 28 59 28 W 190.100

Point # 6 10079.514 10318.440
S 61 0 32 E 284.920

Point # 7 9941.420 10567.658
S 63 6 1 E 242.000

Radius Point # 8 9831.932 10783.474
Delta=9 41 58 Length = 40.968 Tangent = 20.533

N 72 47 59 W 242.000

Point # 9 9903.495 10552.297
) 17 12 1w 112.520

Point # 10 9796.007 10519.023
N 73 7 5 W 7.550

Point # 11 9798.199 10511.799
S 16 57 32 W 10.000

Point # 12 9788.634 10508.882
N 16 57 32 E 2824.800

Radius Point # 13 12490.596 11332.835
Delta=11 11 39 Length = 551.895 Tangent = 276.829

S 28 9 11 W 2824.800

Point # 14

9999.997

10000.014




AREA = i60,807.35 sf (3.6916 acres)

LENGTH = 1364.88

NORTHING ERROR =-0.003 EASTING ERROR = +0.014
LINEAR ERROR=S 77 59 56 E 0.014



